5 Uuobuobgood

00000 5.1 {xeR"|Ax=0}00000| 0000000000
00000 5.2 dim{xeR"|Ax=0} = | 00000 O[3

00000 5.3 000200000000 ¢+iwd00000((e)000000|000000000
000(() 000000 |0000

obooon s4 000 2000000000000

goodo ss OO0 30000000O00DOO0O

00 5.1 n00000 AQCODOOO
Av=)v, XeC!

oooooooooobooovoooOoOOooooDADOODOODOOOvODOOOODOOOD

00 5.1 J0000Odet(A—-AN)=00000000000

00 (A-A)v=0000000000000det(A—A)=0000000000

gb s.2 000000000000 00DOO0DOO0ODOODO

oo DDDDDDD{Vi?:1DDDDDDDDDDDDDDD
ai1vy +agvyg =0 (*)

ooooo

a1Avy + asAvy = a1 AV + agAavy = 0.

(x) 0000 NODOOOODOOOO

0,1(/\2 - )\1)V1 = CLQ(/\l — )\Q)VQ =0.
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O000avi +asveo=0 = a1 =a,=000003
a1+ asve+...4+a, =0 = ay=ax=...=ar =0

gooood

a1vi +agva + ...+ apve + ag+1Vve41 =0 (**)

ooooa
AiA1V] + asAava + ...+ apApVE + ak+1)\k+1vk+1 =0

00000 ()0 My 0000000000
a1( A1 — Agr1)vi +as(Aa — Agr1)ve + .o+ ap( Ak — A1) ve = 0.
00000 {vi,ve,...,v} 000000000
a1 =as=...=a =0.

000 (x=«) 0000000

k41 M e+1Vi+1 = 0

000 agsr =00

00 52200000 A0D0ODBOODDOOOOOOOPOOOO
A=P'BP

oooooooO0O0O0O AOBOOOOOOOOOOPOOOOOOOOO

ol 5.3 0000000000DO000O0O0DbO00OO

00 A=P 'BPO0ODADOOOODOOOOOOOO

det(A —AXI) = det(P™'BP — AI) = det(P~}(B — AI)P)
= detP ! det(B — AI)det P = det(B — AI) det P.

00 5.3 200000 A0DDODOOOOOOODOOO diag (A, Ae,...,A,) 00000
A =P ldiag (A1, Ao, ..., AP

oooooOoOoO0O0ADQOOOOOOOOOOOOO
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00 54nxn00000 ADODODOOD (N}, 0000000000000 R*O0000000
ooo
A =P ldiag (A1, Aoy, AP

0000000000000 POOODOOODODOO'O0O00OO

o0 DOOobOOonOOoOOOooOOoboooogpooo
Av; = Ay, iE{l,Q,...,n}

ooooooooono
Alvi|val ... |[vn] = [vi|va] ... [va]diag (A1, Az, .oy Ap).

00000 [vilvel...|vn] 0000000 DO
P=[vilve]...|va]™', P71 =[vi|val...|va]

oooooooono

00 5.4 0000 AODOODDOOOO
Ex={x€C" | Ax = Ax} = {x € C" | (A — AD)x}

o000 x0O00DoOo0oooo

00 5.5 nxn0000AODDOODDDOO {\}™, 0000000000 {n}, 00000000
0Ooo0000o0

(1) ADOODOOOD
(2) Cn:EAl@E)Q@...@E)\m

(3) dimEy, =n; for alli € {1,2,...,m}

00 5.6 ADO0OD0O0OO0O000<e n,=null (,,1-A)OOOO

00 5.7 det A = 1", \,0

l0D0000000000000000000000000000000000000000000000000000000
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00 0O0553)00000000 < dimVy, =null (M —A)=n, 0000

m m
g dim V), = E ni=n
i=1 i=1

gbooan

O 5.1 0000000000000000000A0

() 0000000 0oO0O0O0OUOOOOOOoOoOoOod™

(a7

00000 (A=A)=\A-3)A+1)=0000

)
(126065

(2 0000000000000 OOO0O0DOO0DOO0OOOOm

(1Y)

00000 A-M)=(A—1—-i)A—1+i)=0000

14 14
A =1+
(7)) @
00000000000

NS AT R EX A 14+i 0
1 1 N 1 1 0 1-—i )

00000000000000000000000( 000000000000
1 1 1 1 1 1
A =1 ~1 . A —1 +1 :
1 1 0 0 1 0
00000000000
1 1 1 1 1 1
A =
10 10 11
00000000000000

(3 00000000 OOOOUOOOOO

A:

—_ = O
_ O =
S = o

00000 (A=A)=-(A+1)2(A—2) =00
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- A=20000000000000000

x —2rx+y+=z 0
A=-2)| y | = r—2y+z =10 = Vi=0
z T+y—2z

- A=-10200000000000000DAO

111
null (A4 =null [ 1 1 1 |=2
1 11
ooo
T T+y+z 0
A+D | y |=| o+y+2z | =] 0| = v=cf 0
z rt+y+z 0 -1
O0O200000000000000
oooo
1 1 0 1 1 0 2 0
Al 1 0 1 =11 O 1 0 -1
1 -1 -1 1 -1 -1 0 0 -1
(49 00000000 DOO0OO0DOO0O0O
2 3 -1
A=1] -1 -2 1
-1 -5 3

00000 (A-M)=-(A-1)¥=000000003000000
0000000000

-1 -3 1
null (A +1) = null 1 3 -1 |=1<3
1 5 =2
gogoobobobboooooobn
x —r—3y+=z
A+D | vy | = T+ 3y —=z =| 0 = v=c
z T+ 95y — 2z 0

gboobooboobobod
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0000000 51 0000f @ xeVeAxeVOOOg : yeW—ByeWoOooOoooono
h:2eVe—Pyewnoooono
hfx = ghx for all x € V

OO00O000000D0 hO gO0O0OO0OO0OO0OOOOOOOOOOOODODOOPA=BPOOOOO AOBO
oooooo

0000000 5.20000000000f : xeV—AxeVOVOOOODODOOOOOOL : z€
V—PyeWOOOODODOOWODOOOOOOOg=hth~! : yeW—ByeWoOOoOOOOB
0000000000000000hLKO000POOOOOOOOOO

0000000 53 V00000000 {weV : i=12..,20WODOOO{eeW : i=
1,2,...,n} 000000 : weViseeWn

h:weVise=wu. . |u,] tyyeW

0000000000000 P =[uul...|luw/"'0000
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